
QUI' e
Unit 4 Quiz - Atks'les & Atvs Natne S:

'lt.ttch the Jtxulv,'/.tty with its definition. Each word willIv usedonce.

t. Center between two points on the circle whose. segment 
nudpoint is the center.

. a line that touches or intersects the circle at exactly
one point.

3. Dianteter . a line that touches or intersects the circle at exactly
two points.

4. Chord . a sestnent between the center and a point on the
circle.

5. Secant ,Ähe point of intersection of a tangent.

G. Tatks»ent Line . a point that has an equal distance front each point
•on the circle.

7. Point of Tangency G. a segntent between two points on the citvle

S. Minor Arv . part of a circle that tueasutvs less than ISOO

9. Major . an angle whose vertex is the center of the circle and
whose sides are radii of the circle.

10. Senti-circle part of a circle that nteasures ntore than ISOO

I Arc . an arc of a circle that equals 1800.

12. Congruent Arcs two or more arcs that have the sarne tueasure.

13. Central Angle . an unbroken part of a circle

14. Circle . a set of points in a plane that have an equal distance
from a given point.

For 15-21, Using the diagram, match the notation with the term that BFSTdescnZvs it.

15. PC

16. BH

17. ÄD

18. AE

19.

21.

A. Center

B. lord

Diatneter

Radius P

Point of tangency

F. Secant

Tangent
C



For 22-28, Use Circle M below to Cind the measures of each arc or angle.

= 40 0, cyt) = 90 0, nc and BE are

24.

26. frÄÉ = I HO
C

27. mzAMB -

28. mzEMC= I

29. Solve for x. The lines that appear are tangents lines. Be
sure to write the equation below and show your work.

61+ 7

31. Use tlle circle at the right. Determine if KJ is tangent to the
circle. Show work that justifies your answer.

(Hint: Use a2 + b2 = c?)

/ Ita

32. Given the circle below, fin the value of x. Be sure to write
the equation. Show your work. Then find the missing angles or
arcs.

6xo90
4xo

s

5xO 214 K 
9xo

c

bb qD

30. Find the missing measures of the

indicated angle or arcs.

120

CFP = =

1/30

L ID

3/40



ARCS AND CENTRAL ANGLES OF A CIRCLE
WV: "'Ong is 

A n Of' eitvle. 'l'hctv 

In the siven eitvle below, souse of these

of

Jingles of Ji circle of' io

Read each of the questions below. now can you renjx»nd to the questions using the mentioned cirx.•le parts and
the stven vtsual?

A n eitvle is an angle whose vertex is the center of the circle
and wh€xsc sides atv radii ot the citvle. Which tnentionecl part is

L.CbA, LEbD, Lebe c

A Minv_ is part Of a citvle tha neasu lexs than 18 0 . Which two
tnentioned pans 4, h éb,åd

A is an atw_.g.ka circÄthat equals 1800. Which mentioned

part is a DAC IDEC

art' is part of a circle than 1800 . Which

menti( led part is a meiorar•d? D'cÉ CE A

arcs are two or more arcs that have the same measure. ich z..--..s

pair mentioned parts are congruent art'?

EX How can we check whether the given arc is a minor arc, major arc or semicircle of

Minor Arc Semicircle
Given Arc Major 

Arc

1 AE

2 AEB c
3

4 DFE

5

How can we use
How many degrees is a semicircle?

How many degrees is a circle?

this information to hel us find the measure of each arc?

Example: Find the measure of the given arc,

1

m NMR = IBO
2

1103

m MRP - 250
4

5
O

m RQM6

mpRN7
O

mQMR -
8

100 0



$$ -18, how do we justify the measurvs of each requested arr.'?

OUR TURN

1.

FMN

3.

u
ISO

goo 130

3b

m MPH a80

m MP = —100—0

mCD -

m DEB

5.

50

aco
q

0

700

IOO

m ABE-
Iqo(

7.
120

700

lao

m RFT rtD 0

9. 150

1400

m NM

mBE= 130

mDEC= 310

IOD

m ABD = 0

120

340

240/2

m RHT
0

m TRF
0

m NPM-

YOUR TURN

2.

130

4.

m CD
55

mDEB= SO
G.

30

m ABE = -940—0

8.

450

115

m RFT

10.

mNM =

m NMP h

236m GEF

m DEC = 306

m ABD = ago

850

230 (z

m RHT 300

TRF

m MNP =

mNPM=



INSCRIBED ANGLES or A CIRCLE

OUR YOUR
1

13

m QRM 324
13.

136

300

mHJ = —112—0

mKLJ= 170
15.

X—IL.f0+ I O

320

m AC = 80 0

mBAC =

17.

m ST 54

12.

m QRN

m NQM

580

m LKH

m HLJ
2qf

(3x-140)0
P IOD

&b

IOO

mCBA = aco

54

30

0 m QRM

14.

360

mHJ

m KLJ -

X-30

m föü

620

m LKH

2540

(2x-30)0
TOA

110

3K- ato

m AC =

m BAC =

18.

-70 110

a5D o m CBA =

5XO

IDD

m ST 136 0


